Pre-Calculus 12
9.5 - The Sum and Difference Identities

Name:

Block:

sin(a + ) =sinacos B +cosasinf

cos(a+ fB)=cosacosf —sinasinf

sin(a — ) =sinacos  —cosasin S

cos(a—f)=cosacosf+sinasin S

tana +tan S
1-tanatanp

tana —tan

tan(a+p)= ===
Lrsp) l+tanatanf

tan(a—pf)=

1. Simplify by writing each expression as a single trig function.
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2. Determme the exact value of cos 75° by evaluating cos (45° + 30°).
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3. Solve for x for OS X <27 cosdxcosx+sindxsinx=0
= Cos(4x—X)=°

CBs BX = E:\

— 3cycles ‘ M* .
— 6 Loluwgons I )
— HC by /3 - _
VJ X:(E:B‘K)@—;ﬁ)ﬂ,ujj )”-;1/'
- Pe“‘d:%”‘%“ ELE S i A T
X=2,30 50 30 9 W
b 6 {9 o, ((] d é
L 1 L3l
R = |




4. Prove sin(z —x)=sinx. LS RS
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5. Given angle a is in Quadrant IIl with cosa = ~§ ,and angle B is in Quadrant I with sin 8 =1,

determine sin(a + f). ' /
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Note: solve #10, 13 for 0<x <27




